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��� !�������������� ���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � �"
��� !�������������� ��� ��������������� ���������� � � � � � � � � � � � � � � � � �#

����� ������� ����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �$
����� �
� %������ ������� ����� � � � � � � � � � � � � � � � � � � � � � � � 
����� �
� ������� ��	����	��� ���� � � � � � � � � � � � � � � � � � � � � � � �"
���� &��
��
���%��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �'

�� �
� (���)������ ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � �$
�� �� *����� �	������ ��� 	
� +�� � � � � � � � � � � � � � � � � � � � � � �$
�� �� *,��)��-� ���	��� �
 	
� +�� � � � � � � � � � � � � � � � � � � � � � ��

��. ������ ����������� ��� �����	���� �
 	
� +�� � � � � � � � � � � � � � � � � �.
��.�� �/012 	
� ��% ������ 
���	��� � � � � � � � � � � � � � � � � � � � � � �3
��.�� �/12 	
� 
�	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  �

� �������� ������ ���
��������� ��

��� 4���,�	 ����� ���	��� �� 5�)���� �����6���	��� � � � � � � � � � � � � � � � �  .
����� 4���,�	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  .
����� �
� 5�)���� ����� �
 ����,�	 ������	��� � � � � � � � � � � � � � � �  "
����� �
� 
�	� �
 	
� ����,�	� � � � � � � � � � � � � � � � � � � � � � � � �  #

��� �����		������7 %������ ���	��� ��� ����,�	� � � � � � � � � � � � � � � � � �  #
��� !�����	����	��� ����	2 ���	����	�� ���	����	���� � � � � � � � � � � � � � � .�
�� ���	����	��� ����	2 ����
��� �����		������ � � � � � � � � � � � � � � � � � � . 
��. 4���,�	 ����� ���	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ."

��.�� !�������������� ���		����� %�	
 �� ���	�� �����		������ � � � � � � � .'
��.�� /������������� ���		����� � � � � � � � � � � � � � � � � � � � � � � � .#

��" ������ ������� (���	�	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � "�
��"�� ������� ������ �
 %������ ���	��� � � � � � � � � � � � � � � � � � "�
��"�� ������� ������ �
 ���	������	�� ���������� ��� �
 ���		������ ���

���	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � " 
��"�� ���������� ����	��� �
 %������ ���	��� � � � � � � � � � � � � � � � ".
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�  ������ 
��������� �� ����!
��� 
��������� "#

��� ���	�� �����		������2 ������� ������ ��� 	��������� ������ �
 ����,�	� � � 3$
��� !�������� �����	� ��� ���������� � � � � � � � � � � � � � � � � � � � � � � � � 3 
��� 1���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 3'

� $����� ���	������ %�
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 ���� &������������� +18 � � � � � � � � � � � � � � � � � � � � � � � � � � � '�
 ���� ���	����	��� +18 � � � � � � � � � � � � � � � � � � � � � � � � � � � ' 
 ���� 1
����� ���	���� ���	������	� �� 
��
������	� +18 � � � � � � � � � � '"

 �� 9���� �	�	� ��	���	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ''
 ���� ������ ���	����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � '#
 ���� ����� ���	����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #�
 ���� 1��	����	� ��� �
����� ���	���� ���	������	� � � � � � � � � � � � � � #�
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��	� ���
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.�� 56������� �� 	
� ������ �
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� ����������� � � � � � � � � � � � � � � � � � � � � ��"

.�� !�������� �����	� ��� ���������� � � � � � � � � � � � � � � � � � � � � � � � � ��3
.���� 5:��	� �
 �����		������ � � � � � � � � � � � � � � � � � � � � � � � � � ��'
.���� 4���,�	 ��������� 	��������� ����	��� � � � � � � � � � � � � � � � � � ��$
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��	� ���
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� ����������� �� 	
� 	
�������		����� 	��� � � � � � ��.
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 ���		������ � � � ��3
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+���	�� 1
�����8������� <+18= �� �����	 ����������� �����	�� �� 	
� 	
���� ��������
��� 	
� �	���� ��	����	����7 ��� �� ��%����� � 
�������	�� ����) �
 	
� &	������ 4����
�
 ������	��� ���	���� �
������ /�%����7 ���	 �
 	
� �������	���� �
 +18 
��� ���� ����
>��� 	� 	
� ������ �
 ���� �
��	 ���	����� ��� 
��
 ������ 	����
���7 %
��� 	
� 	
����
��� �� �������;�� ��� ���	����	��� 	
���� �� ���(��	�� 0�����7 	
��)� 	� 	
� ������	�
������ �����	�	�� 
������7 	
� �������� ����	��	 �� ���
 � ������ �� �����7 ����%��� �
���	���	�� 	
����	���� 	���	���	� ?� 	
� �	
�� 
���7 %
�� ��� ��������� 	
� �����	��
	����
�� 	
� �������� ����	��	 ���������@ �	 	
� ���� 	��� 	
� �������� ������� �������
���������7 �� 	
�	 �	� �	��� ������� ���� ��Æ���	 ��� 
�� ���	�� 	� ���� �� ������ ��
��		��� ������	�����

/�������� ���������� ����% �
������	� 	� �	��� �	���� ��	����	���� ����� �6	���� ����
��	���� �
 	
� 
������� ��		��� 0�����7 �� ���������� 	
� �	���� ������ �
 	
� ���������
���	��� ��� �� ������� 	
� ������ �
 	
� ���������7 %� ��	 ������ 	� � ������ %
��� � ����

��
 ������ �����	� �� ����	�� �� 	
� ��������� ������7 ��� ���� ����� ��		�� �	 
��
 	���
����	��� ��� �������� �� ��������� 0� 	
�� ������ 	
� �������� ����	��	 ��� �� ����	�����
����� %
��� 	
� >���� ��� �� �	��� �� 	
� ��������� ������7 ������ �� ������ 	� �� ��	�����
��% ��	 �
 �
�������7 %
��
 %� ��� 	�� 	� �������� 
��� >��	 ����������� /��������
���������� ����%7 	
���
���7 	� �	��� +18 �� � ������ ��	 ���������� 	� ���� 	����	�����
��	
���7 ��� 9��� ��

�
� �������� �	�	�� �
 +18 ��		�� ��� �� ��������	�� �� � 	%� ����������� �
���
������� %�	
 	
� 	������	��� � �� 	
� ���6��7 ��� %�	
 	
� �
������ ��	��	��� �� ���

LHC

ln Q

A B

ln(1/x)

2

"soft",
Regge

formfactors

"hard" QCD

Deep Inelastic Scattering

"traditional"
nuclear
physics

RHIC, 9����� �2 ��� ����� �� ���	
���
 ��
����
�
 ��� ����
 �� ���� ��� 	������� ���� ��
��� ������� �� ��� ��� ������ 
����� �� ���
���������� �
� ��� ������� �
 ��� ������
���
���� ����� ��� ��� ��������� �� ��� ����
���
���
���� � �
� ��� ��������
 � ! ���"#��$%
����� � �� ��� &���'�
(� �����
� 	�������� ���
��� ����� ����� ��� �����
 ���������� �� ���	
�
��
 �
��������
� �� �������� �
������� )�����
��'�
 ���� *��� +,-.�
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9����� �2 /'���� �� ��� ��� ����� ��������
��� ����������� � �
� ��� ���
�
 ��������
����
���� �� ��� �������
��� �
 ��� 	�������
�
� ������
��� ����% ��������	��
� ��� ������
������� �����
 ����� ����� ��� ���
�����
 ��
��� �01 ����� �� �������� �
� ��� �����
�
����������� �
������
�
� ��� ��
�� ���� ��� ���
���� �
������ ��� ������������ �� �����������
������ �������� �
 
������ ��������
� �� ����
����
� �
������� )����� ��'�
 ���� *��� +2-.�

�����	�� %�	
 	
� ������ �����	� �� �� 	
� ���6�� <	
� 
��
�� ��7 	
� 
��
�� ��=7 ���
9��� �� ?�� )��%����� �
 +18 ��		�� �	 �� A $ �� ����� �� ��		��� +18 B."C7 ��	 �	
�� �A $ %� 
��� 	� ���� �� ������ %
��
 ��	������	� ��	%��� ��%������	� 
������� ��		��7
��������� �� ��%������� �:��	��� 	
������ ��� 
��
������	� (���)������ ������ <+��=7
%
��
 ��� �� ��������� �� ���	����	��� +18 <�+18=7 ���7 ����7 ��
� B'�C� �
��� �	�����
������	 ��������� 	%� �
���� 
�� 	
� �	������ ��	����	��� ��		��7 %
��
 ��� �� ����	�� ��
	
� ������	��� �� 
�������� ����������� �	 ��% 	������	��� <����7 ��% ������ �����	�= ��
��% ������ �����	� 	
� ��		�� �� � ��� �
 
����� ����������� 1���������7 �	 
��
 	���
����	��� <����7 
��
 ������ �����	���= �� 
��
 ������ �����	� 	
� ��		�� ��� ��	�� �� 	
�
����������	 
����� 

���� �
�� �
��� �
 	
� ��		�� �� �
����	���;�� �� 	
� ���������	� 
��
	
� ����� +18 ������� �
 
������7 	
� (���)� ��� 	
� ������7 	� �������	� 
����� ����
���
 ������ ���	����� 	
�� 	
� 
����� ������ ���� %
��
 	
�� ��� ������� ���>���� �	
;��� ������ �����	�7 ��		��� ������	���� �
 +18 %�	
 	
��� ���
	 (���) D����� ������	 �
���	���� 	������	��� �� A �3$ 4�E � �$F 
�� 	
� �
��� 	�����	���� �
�� ����� ���������
%�	
 ���������� ������ �����	��

/�������� ���������� ����% 	� �6����� 	
� +18 �
��� �������� �	 ��% �������� G�
� � � ���E� �	 	
� 8����	��	 /���� 0�� &���
��	��� <&0&= G 	
� ������ ��� �	�����7

���������� ��� ������	��� 
��	��@ ������	��� 
��
 ������ �����	��� ��	 ��% ������
�����	��� ��� ����
��� �	 
��
�� �������� G

�
� �  ���E �	 	
� *���)
���� ��&

��������	��7 ���
�
� � �3 ���E �	 	
� 15�! &���� ���	�� &���
��	��� <&�&= G 	
�

��������� ������ ��� �� ������ ������	��� �	����� ��� 	
� ������ �����	� �
 	
� ��������
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